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10z rad =2000 grad

10 rad =1800°

n rad =180° =200 grad :of y<=io 8%
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cos( x+ 217 )=cos(x+ 7 +207)=cos(x+ )= —cos(x) cos(187 — x)=cos(— x)= cos(x)
sin( x—247)=sin(x) cos( x—727 )= cos(x)
cos(87 + x )= cos(x) cos(117 — x)=cos(107 + 7 — x) = cos(w — x) = —cos(x)
sin(327r + X) = sin(X) sin( x+45 n) = sin(x+ T+ 447r) = sin(x+ 71')2 —sin(x)

cos( o j _ cos(x—%— 4nj _ cos(x—%j _ cos(% - j: sinl) | it e S sl ) sl

cos( 53 20 j = cos(x+ % + 27rj = cos(x+ %) = cos(% ~(- x)j = sin(~ x) = —sin(x)
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sin( 317 — x)=sin(307 + 7 — x)=sin(7 — x)=sin(x)

sm( PR j _ sm(“ - 67rj _ sm(“ gj _ sm[g - X)j _ cos(— )= cos(x)
sm(X+—j—sin(x—%+4nj:sin(x—§j:—sin(%— jz—cos(x)
(257”— j—cos(l2n+5—xj—cos(%—xj—sm()

s delgdll oda Jleatinls oyl (ySmay delgdll iy 9 Ll Uaas ads oy (A delgdll qal #®

cos(x + 2kr ) = cos(x) sin(x+ 2k ) = sin(x)

cos(7 — x)= —cos(x) sin(7 — x) = sin(x)
cos(7 + x)=—cos(x) sin(x+ )= —sin(x)

cos(— — x |=sin(x) sm(— ~ x|=cos(x)
cos(~ x) = cos(x) sin(— x) = —sin(x)

A=cos( x+ 77 )+sin(137 - X)—2COS(977I+ xj
A= cos(X+ T+ 67r)+ sin(l27r i = X)—2COS(47Z‘ +%+ Xj
A= cos(x+ )+ sin(z — x)— 2cos(§ + xj

( + sm(x) 2 cos(% - (— X)j

A= —cos(x) + sm(x) 2 sm( X)
( (
(

A=-cos X)

X) + sin X) +2 sm(x)
A=—cos(x)+ 3sin(x)

B=3sin(97r —X)+2COS(137Z‘ + X)+ sin(%—xj
B=3sin(87r +7 —X)+2COS(7Z' +127 + X)+ sin(27r —%— Xj

B=3sin(7r —X)+ 2cos(7r + X)+sin(—§— j
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C=sin(x—57r)+sin 7—n+x —3sin )(—5—7r
2 2
C:sm(x+7r—67r)+sm(47r—5+ Xj—3sm(x—5—27rj

C= sin(X+ n)+ sin(— % + Xj - 3sin(x— %)

C = —sin(x)— sm(— = Xj + 3sm(§ = j

(
C = —sin(x) - cos(x) + 3 cos(x)
C = —sin(x)+ 2 cos(x)
(

D=cos*( x+177 )+ 2sin*(97 — x )+ cos{x—%rj

D=cos®(x+m +167)+2sin’(87 + 7 — x) + cos{x—%—%rj
D=cos?(x+ )+ 2sin’ (7 — x)+ cos{x—%)

D= (- cos(n) + 25 (x)+cos’{ 3 x|

D= cosz(x)+ 2sin2(x)+ sinz(x)
D=1+ 2Si1’12(X)






